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Number Partitioning Answers
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50000 |+ 800 [+]| 20 +D=<
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10
50000 [+| 800 |+| 20 |+ =( 5 0| 8| 2 2

11.

70 000 |+ 3000 |+| 700 |+ 20 +D=Q 3 17| 2 9
12.

80000 (+| 4000 |+| 900 |+| 10 +D=€ 419 1 5
13.

60000 |+ 5000 (+| 800 |+| 30 +.=Q 51813 8
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500 000 [+]60 000|+|3000(+| 600 |+ E = (

400000 (+]70 000(|+|3000|*+| 400 |+| 80 |+ =
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Number Partitioning

10
3 5 0] 3 7 6 = +150 000+ + + 6
11.
6 2 4 1 1 3 = (600000 | + +14000(+| 100 |+ +
fifty +| two |4 six . + _
thousand thousand hundred eighty
13.
seven .
hundred |+ | femty |+ eight |4 thirty | * =
thousand hundred
thousand
14.
two nine
2 1419117 3 ]=1{hundred |* + h d + t [seventy|*
thousand thousan
15.
_ + +| three |4 +
4 61319)° 7 thousand
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51618]°9 2 = (100000 | + | 50 000 6000 800 90 |+
21710 4 3 = @ +120 000 7000 40 5
6 |4|71]8 D = @ +160 000 4000 700 80 |+
OJ]3]6]2 3 = @ +| 3000 600 20 3
500 000 | +]|60 000 +|3000|+| 600 |*+| 10 ={ 5 6 |3]6 o
400000 (+]70 000(|+|3000|*+| 400 |+| 80 |+ =| &4 7 4 | 8| &4
800 000 |+| 6000 (+]| 300 |+| 20 [+ 8 =( 8 1]0}|6]|3 8
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10.
3 3 7 6 = (300000 |+|50000(+| 300 |+| 70 |+ 6
11.
6 1 1 3 = (600000 |+(20000(+|(4000|+| 100 (+| 10 |+
fifty +| two + six | 4+ eightu |+ -lalsl2le 9
thousand thousand hundred gnty
twenty | 4+ | eight | 4 . + _
thousand hundred thirty 7 2|0]18]3 7
14.
two forty nine one
_ + + + +
2 17 3 - ?ﬁonif: d thousand thousand hundred seventy three
15.
_ +| sixty [ 4| three |4 . +
& Ol5> 7 hundred thousand thousand fifty
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